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Disperse Salinity | Temperature Time Surfactant Span: Solid Voltage
Phase Volume X, (%) x, ( N C) delay concentration | Triton Particles Y
X, (%) x, (hours) x5 (%) X, X, (%) (kw/cm)
A 40 1 4 0.25 2 025 0.5 0.64
1 80 1 4 0.25 4 025 2 0.80
40 4 4 0.25 4 0.75 0.5 3.20
80 4 4 0.25 2 0.75 2 0.48
40 1 23 0.25 4 0.75 2 | 1.72
80 1 23 0.25 2 0.75 0.5 0.32
40 4 23 0.25 2 025 2 0.64
80 4 23 0.25 4 025 0.5 0.68
40 1 4 24 2 0.75 2 0.12
80 1 4 24 4 0.75 0.5 0.88
40 4 4 24 4 025 2 232
80 4 4 24 2 025 0.5 0.40
40 1 23 24 4 025 0.5 1.04
80 1 23 24 2 025 2 0.12
40 4 23 24 2 0.75 0.5 1.28
g 80 4 23 24 4 075 2 0.72

A regression analysis was performed and some output from the computer package R is given below:
nLLruuh%(a;Cl o Ciriﬁilr\:;kﬁx
> lmv=1m(y~x1+x2+x3+x4+x5+x6+x7) \L

. A -\
> summary (lmv) ‘\ = X XTY
(»U@)Q\S g &f‘ ) S
Call: (G\ :(K‘% \}

~
Im(formula = y ~ x1 + x2 + x3 } x4 + x5 + x6 + x7) —°V

A A A
Coefficients: ‘/PL Se(?: ?’%2’("'\:) f ‘k’ F: =0 w l?\:‘:b

Estimate Std. Error t value Pr(>|t])

(Intercept) 0.591491 0.747886 0.791 0.4518

x1 -0.020500 0.006650 -3.083 0.01506 * 3

x2 0.170000 0.088671 1.917 0.09151 . 6 q
x3 -0.015263 0.014001 -1.090 0.30738

x4 -0.008421 0.011201 -0.752 0.47368

x5 0.460000 0.133006 3.458 0.00859 **

X6 0.520000 0.532024 0.977 0.35700

x7 -0.126667 0.177341 -0.714 0.49538

Signif. codes: 0 ‘***/ 0.001 ‘**’/ 0.01 ‘*’ 0.05 *.” 0.1 * " 1
nop

Residual standard error: 0.532 on 8 degrees of freedom

Multiple R-squared: 0.78, Adjusted R-squared: 0.5874

F-statistic: 4.051 on 7 and 8 DF, p-value: 0.03401
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Two different models--- SSE will differ, and we get

different results with respect to significance.



That was how far we got in this last lecture. We decided that the
tentative solutions to Problem 3 be scanned and appended to the

class notes - see next page.

Please read the remark in the end of the tentative solutions to
Problem 3.
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